EAGRAROBREERT — 2 N— ABISH —F

201353818H (A) 22mfELU2A

m C1=Z ¥5%—#% ‘ [X%&] ™ ‘ [eEmmE] - | 4 (&) 12500 FE
[AE£] 1% :120,000  ~ 2% :24,000 M  33%&:12,000” / 4% :6,000H ~ 5#&:0H
E BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N JEREAI : -1-1- — IOSEE (@)
2l 7 =7 Ey— o4 an 1.(2_0).5 1-1-1-1 | 37.8 1 (4_217) Fliii
R:2a2—=YrJ0-X BANXINF—=FK ILEHE BE
P +2 KFRAE :21. =2 . = HEEX (SH)
N s DPEELER “ 4 %o LEe | e B2 28 | memis
Z:ao-xI>J0>r B:UT-KT4T7> HRR&t V7K
— ¢S 4 6 | EIDEX 1:22.8 7-6-6-5 [38.2| — 6 469 | MHRZ (&L
3/5|5 h=FKRTFNZ 56.0 (6) (o) | BERAE :
LiANRINIZ B:FLI1xLA RS
N B B . Hches . 7 — A= (fELL)
sB 3| RU—L5F%5 t> 5 Zhs (17.272% 6-7-7-6 | 38.0 3 ::132) e
X THANAN B RXH )/ FT 33— T2 NG
o e — EIREE : 44— - NEEE (&)
_nr K R=F 4 4 54_01_ 1.(233).4 4-4-4-4 | 39.4 9 (3_827) %g%z &
L:¥rsn7aq4 B354 K4 el R4S
N o . e [UIf=sEEc] 123. —-8-8— . — S (f&LL)
6 4 J—JLR¥xv> KL % 5 540 (1729374) 8-8-8-8 | 37.8 7 122;) ke =
L4719 B:i¥xv N —EX R 77—L
4 5 | BEA=ER 1:23.7 5-5-5-7 | 39.2| — 5 455 | /MERE (EIL)
d > EiEAA 56.0 (1'172) o |BLEE
2R T— VXTI —h BiYYhAOT1— =Eictae-]
= S H o6 | EREHR 1:23.7 2-2-2-3 |40.8| — 4 494 | MM (151L)
glglg|EZNTRIT > 56.0 (7€) (-13) | BB 757>
LALLM E— BYYXIRI RS RS
— N EIEIEIN :23. -9-9- . - w@lfEs (fEl)
olglg|LFr—avra- it 6 =N 1(/%;;)7 9-9-9-9 | 38.1 8 (3+815) Bans ]
L:aAvH—A>F—T BT IIE— Fh)T7—LI
@ I—F—@EBIERL
|3=7r= 7,9,6,1,2,3,5,4,8
2ol=5"= 7,9,6,1,2,5,3,4,8
== 7,(6,9),1,2,5,3,4,8
41—F— 7,6,9,1,5,3,2,4,8
[ N
B 7 1704 794K 6-7 140M & 6-7 1904 &R 5-6-7 550M
# B 7 110 Sl 430 B E 6-7 180M EE 7-6-5 1,180M
6 110 5-6 320M B H 7-6 280M
5 220M

ARICOVWTRDTEEERROODE. TR LI,




